Jan 16, 2024
Chap 2. Basic properties of Fourier series.
2.1. Definitions and examples.
Def. Let f be a C-Valued function defined on
$$(-\pi, \pi]$$
.
We say that f is Riemann integrable (or simply, integrable)
if both the real part, and the imaginary part of f are
integrable on $[-\pi, \pi]$.
Def. Let f: $[-\pi, \pi] \rightarrow C$ be integrable. The Fourier series of f
is defined as
 $f_{cv} \sim \sum_{n=-\infty}^{\infty} \hat{f}_{(n)} e^{inx}$,
where $\hat{f}_{(n)} = \frac{1}{2\pi} \int_{-\pi}^{\pi} f_{(x)} e^{-inx} dx$.
We call $\hat{f}_{(n)}$ the n-th Fourier Coefficient of f.

Example 1. Let
$$f: [-\pi, \pi] \rightarrow \mathbb{C}$$
 be defined as

$$f(x) = \begin{cases} 1 & \text{if } x \in [0, \pi], \\ -1 & \text{if } x \in [-\pi, 0]. \end{cases}$$
Write out the Fourier series of f on $[-\pi, \pi]$.

Solution:

$$\widehat{f}(o) = \frac{1}{2\pi} \int_{0}^{\pi} \mathbf{1} dx + \frac{1}{2\pi} \int_{-\pi}^{0} (-1) dx = 0.$$

For n = 0,

-

$$\hat{f}(n) = \frac{1}{2\pi} \int_{0}^{\pi} e^{-inx} dx - \frac{1}{2\pi} \int_{-\pi}^{0} e^{-inx} dx$$
$$= \frac{1}{2\pi} \frac{e^{-inx}}{-in} \left(\frac{\pi}{0} - \frac{1}{2\pi} \left(\frac{e^{-inx}}{-in} \right) \right)_{-\pi}^{0}$$
$$= \frac{1}{2\pi} \frac{e^{-inx}}{-in} \left(\frac{\pi}{0} - \frac{1}{2\pi} \left(\frac{e^{-inx}}{-in} \right) \right)_{-\pi}^{0}$$

$$= \frac{1}{2\pi} \frac{C}{-in} - \frac{1}{2\pi} \frac{1-C}{-in}$$
$$= \frac{1}{2\pi} \frac{e^{in\pi}}{e^{in\pi}} + e^{in\pi} - 2$$

$$= \left\{ \begin{array}{c} -2i \\ n\pi \end{array} \right. if n is odd$$

Hence the Founder series of
$$f^{2}$$
 is given by

$$f_{(x)} \sim \sum_{n=-\infty}^{\infty} \frac{-2i}{(2n+i)\pi} e^{i(2n+i)x}$$

Example 2.
$$f(x) = n \quad \text{on} \quad [-\pi, \pi].$$

$$\hat{f}(x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} x \, dx = \frac{1}{2\pi} \cdot \frac{x^{2}}{2} \Big|_{-\pi}^{\pi} = 0$$

$$f(x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} x e^{inx} \, dx$$

$$= \frac{1}{2\pi} \left(\frac{x e^{-inx}}{-in} \Big|_{-\pi}^{\pi} + \int_{-\pi}^{\pi} \frac{e^{-inx}}{in} \, dx \right)$$

$$= \frac{1}{2\pi} \left(\frac{\pi e^{-in\pi} + \pi e^{in\pi}}{-in} + \frac{e^{-inx}}{n^{2}} \Big|_{-\pi}^{\pi} \right)$$

$$= \frac{-(-i)^{n}}{n} \cdot \frac{1}{n \cdot 2} \left(\frac{-(-i)^{n}}{n} e^{inx} \right)$$

Suppose on the contrary that
$$f(x_0) \neq 0$$
.
(WLOG, assume that $f(x_0) > 0$.
Choose a small $S > 0$ such that
 $f(x) > \frac{f(x_0)}{2}$ if $|x-x_0| < 8$.
Our idea is to construct some trigonomitric polynomial.
 $P_{h}(x)$ such that $\int_{-\pi}^{\pi} f(x) \cdot P_{k}(x) dx \neq 0$.
which leads to a contradiction.
Take a small $E > 0$ such that
 $Cos(x-x_0) < 1 - \frac{3E}{2}$ if $s < |x-x_0| < \pi$
Take a small $\infty \eta < s$ such that
 $E + cos(x-x_0) > 1 + \frac{5}{2}$ if $|x-x_0| < \eta$.
Consider $P_{k}(x) = (E + cos(x-x_0))^{2k}$.

$$\int_{-\pi}^{\pi} f(x) \cdot f_{R}(x) dx = \int_{-\pi+\infty}^{\pi+\infty} f(x) \cdot f_{R}(x) dx$$

$$= \int_{|x-x_{0}| \leq y} f(x) \cdot f_{R}(x) dx$$

$$= \int_{|x-x_{0}| \leq y} f(x) \cdot f_{R}(x) dx$$

$$= (I) + (I) + (I),$$
where
$$(I) = \int_{|x-x_{0}| \leq y} f(x) (\xi + \cos(x-x_{0}))^{2k} dx$$

$$(I) = \int_{2} f(x) (\xi + \cos(x-x_{0}))^{2k} dx = \int_{y} f(x) (\xi + \cos(x-x_{0}))^{2k} dx$$

$$(I) = \int_{y} f(x) (\xi + \cos(x-x_{0}))^{2k} dx = \int_{y} f(x) (\xi + \cos(x-x_{0}))^{2k} dx$$

$$(I) = \int_{y} f(x) (\xi + \cos(x-x_{0}))^{2k} dx$$

$$= (\xi + \xi) + (\xi + \xi) + (\xi + \xi) + (\xi + \xi) + (\xi + \xi) = (\xi + \xi) + (\xi + \xi) + (\xi + \xi) = (\xi + \xi) + (\xi + \xi) + (\xi + \xi) = (\xi + \xi) + (\xi + \xi) + (\xi + \xi) = (\xi + \xi) = (\xi + \xi) + (\xi + \xi) = (\xi + \xi) = (\xi + \xi) + (\xi + \xi) = ($$

It follows that as
$$k \to \pm \infty$$
,
(I) + (I) + (II) $\longrightarrow \pm \infty$.

Hence

$$\int_{-\pi}^{\pi} f(x) P_{\mathbf{k}}^{(x)} dx \neq 0 \quad \text{when } \mathbf{k} \text{ is large enough}.$$

This leads to a contradiction, as Pieces is a trigonometric polynomial.

(Reall a trigonometric polynomial is of the form
$$\sum_{n=-N}^{N} c_n e^{inx}$$

Write
$$f(x) = U(x) + i V(x)$$
, where U, U are the real and
imaginary parts of f . It is easy to check that

$$\widehat{\mathcal{U}}(n) = \widehat{\mathcal{V}}(n) = 0$$
 for all $n \in \mathbb{Z}$.

Corollary 2.2. If
$$f$$
 is cts on the circle such that $\hat{f}(n)=0$ for
all $n \in \mathbb{Z}$, then $f=0$.

2.3 Convergence of Fourier series
Assume
$$f(x) \sim \sum_{n=-\infty}^{\infty} C_n e^{inx}$$

Let $S_N f(x) = \sum_{|m| \le N} C_n e^{inx}$
 $Q_n : S_N f(x) \rightarrow f(x)$?
 T_{1m23} . Assume that f' is cts on the circle and
 $\sum_{n=-\infty}^{\infty} |\widehat{f}(n)| < \infty$.
Then $S_N f(x) \Rightarrow f(x)$ on the circle.
 $Pf. Since \sum_{n=-\infty}^{\infty} |\widehat{f}(n)| < \infty$, by Weierstross M-Text Thm,
 $S_N f(x) \Rightarrow g(x)$ on the circle (*)
for some cts function g on the circle.
By (*), for each $n \in \mathbb{Z}$,
 $\pm \pi \int S_N f(x) e^{-inx} dx \rightarrow \widehat{g}(n)$ as $N \rightarrow +\infty$.

However,
$$\frac{1}{2\pi} \int S_N f(x) e^{-inx} dx = \hat{f}(n)$$
 when $N \ge |n|$.
So $\hat{g}(n) = \hat{f}(n)$ for all $n \in \mathbb{Z}$.
Since both f , g are ds on the circle, by Cor 2.2,
 $f = g$. By $(*)$, $S_N \hat{f}(x) \Rightarrow \hat{f}(x)$ on the circle.